LE PRESENT DU SUBJONCTIF
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ON ETRE

TU TENIR

JE AVOIR

ON TENIR

ON SAVOIR

ON POUVOIR
VOUS ALLER

TU APPELER

TU VOULOIR
NOUS ALLER
ON APPELER
ELLES FAIRE
ON RECEVOIR
NOUS DEVENIR
VOUS ACHEVER
TU APPRENDRE
NOUS PRENDRE
NOUS APPRENDRE
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IRREGULAR
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TU FAIRE
ON AVOIR

ON ALLER

TU ALLER

ON CROIRE

TU ACHEVER
VOUS AVOIR

TU POUVOIR

ON ACHETER
VOUS ETRE

VOUS TENIR
ELLES AVOIR
NOUS POUVOIR
VOUS APPELER
ELLES SAVOIR
VOUS PRENDRE
TU CELEBRER
VOUS APPRENDRE
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TU ETRE

ON FAIRE

TU AVOIR

TU SAVOIR
TU CROIRE
ON PRENDRE
TU PRENDRE
NOUS ETRE
NOUS AVOIR
ON ACHEVER
ELLES ETRE
VOUS CROIRE

VOUS POUVOIR
VOUS DEVENIR
ON APPRENDRE

ELLES CROIRE
ON CELEBRER

VOUS CELEBRER
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ELLES CELEBRER



Solution




